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4 Areas of surfaces of revolution
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Def If f(x) <, 0 and f(x) is continuous on Laibb ,

the area of
the surface generated by revolving
-

the graph of y = f(x) about the x-axis is
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#1 : Find the area of
the surface generated by

revolving the curve y = 25
,

1 x = 2
,

about the x-axis .

S: =

2 + y)) ax

y = 2
x

E q = 2=x
- i

= #

(8) = I

/ :/=

S = 2 (2/x)5**

= 4π)dx u =
x+ 1

du = dX

u(1) = 1 + 1 =

2

=

4Y jdu u(z) = 2+ 1 = 3

= 4π(zu=)
= 4π=(3t - c)
=+ (355-212) a positive number
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#2 :

Find the area of
the surface generated by revolving

-0x =

2/9-y-
&

about
the y-axis .

Sol :

Sketch first
Let f (y)

= z /FY
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(cont Ex 2)

1)
S = 2+ 27

= 4 x ! sydy
= 4π(5(10 -y)z]
= ((0--t - (10--)

= 2
+ (252 - 10/5)

is the surface area
.
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